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Ts12Acc Tehkasl District Common Examinatlons ‘ . ....

CommomFlrst Revision Examination - January 20_3

0% pfi ozb,en

-’_‘"‘l‘

| Standard 12

Time: 3.00 Hours @1 ACCOUNTANCY L R T Marks: 90
;b ‘ ﬁ, 'Part - I‘ " s . 20x1=20
Note : Answer all the questions W |
1) Statement of affalrs |s generally prepared to fmd out the e of the '
. busmess it ke i '
a) Cap|tal : b) drawnngs e ) proft d) loss

~2) What is the amount of capital of the proprletor, |f hIS assets are Rs.85,000.
~ and liabilities are Rs.21,000?7 '

. a)Rs.85 000 b) Rs.1,06, 000 i c) Rs. 21 000 - d)Rs'.;64,000
3) Income and expendlture account is a i o -
a) Nominal A/C % b) Real A/C
c) personal A/C Mt * d) Representative personai account
4) Amount received towards life membershlp fee from membersisa .............
a) capital receipt i "'b) revenue recelpt
c) capital expenditure ‘ - d) revenle expenditure
5) When fixed capital method is adopted by afirm, .......... are opened for each
partner apart from the capital accoUnt of each partner. NN |
a) Current a/c . b) Bank a/c . c) drawing a/c d) cash a/c
6) Which of the following is the nncorrett palr'? ; '
" a) Interest on drawmgs = Deblted to capital account
b) Interest on capital - Credlted to capital account -
c) Interest on toan - Deblted to capital account
d) Share of proft ‘ o Cl‘edlted to capltal account
7) Which of the following statements is true?. ;
a) Goodwill is an intangible asset. " b) Goodwill is a current asset "
~+ €) Goodwill is a fictitious asset d) Goodwﬂl cannot be acqunred

8) - Which of: the followmg istrue? "
" a) Super profit = Total proﬁt/number of years ‘
.b) Superiprofit = ‘We|ghted profit / number of years
¢) Super profit = Averageé profit - Ndr_mal ‘profit
i d) Super profit = Average profit x years of purchase
' 9) On revaluation the increase in the value of assets leads to '
a)Gain b) Loss .. c)Expense - d)Noneofthese
10) If the old profit sharing ratio is more than the new profit sharmg ratio of a
partner, the dlfference is called. ‘
a) Capital ratio b) Sacrn'”cmg ratio ¢) Gaining ratlo d) None ofthese
11) Gaining ratio isthe proportion of the....... .... which is gained by continuing partners.
a) Sacrifice - ‘b) Profit:- ~  c) Capital ~ d) None of these
12) A, B and Gare partners sharing profits in the ratio of 4 : 2 : 3.-C retires. The
new profit sharing ratio between A and B will be \
a)4:3 ' B3 14 c)21“"d)12
13) Authorised capital is the maximum amount that an be raised as capital as is
authorised by the .,.......... _

a) memorandum of assocnauon b) art'icles of association
,C) prospectus : d) pro-rata allotment

14) The amount received over and above the par value is credited to

,_' . a) securities premium account b) calls in advance account

~ .+ €) share capital account’ d) forfeited shares account

15) Balance sheet provides information about the financial position of a business concem
a) Over a period of time b) As on a particular date
c) For a period of time d) For the accounting period
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16)

17)

18)
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Expensps for a busmessl‘e’rthe ﬁrst yearwere Rs 80;000. In the second ypar it
was increased to Rs.88,000. What is the trend percentage in the secg{\d year?
a)10% . b) 140%. % i c) 900 ,e t%) 1%

The mathematlcal expresslon that prowdes a measure of, the relatmnsmp
between two figures i called b

\ a) COI’IC‘USIOn b) RatIO : A C) Model ‘ d) Dec|s|on :
Proportioh of share holders funds to total assetsiscalled * /-
a) Proprietaryratio .~ b)capital gearirig ratio-
. €) Debt. equnty ratio” . % ‘ d)ﬂcurrent Fatie." e
- 19) Which is not the default grou'b ln Tally® =~ ot bty
' 'a) SUSpense decount ' B)Outstanding expense
c) Sales’ account': - L -d) Investments

20)

Rs.25,000 withdrawn. fram.bank for office use. In Wthh voucher type, thls‘ |
transactlon will be recorded.

o a) Contra voucher b) Recelpt voucher c) Purchase voucher d) Sales voucher

Note |

21)
22)
23)
24)
25)
26)

27)

28)

29)

‘Note; :

30)

’ Capltal at the beglnnlng of the y'ear(lSt Apir, 2018) 5,0(_)!qdp ‘,

¥ . Ppart-1I ; Cwle 7Xx2214

Answer any seven questmns

; Questmn No. 30 is compulsory

What is meant by incomplete records? =~ . DTN

Give four examples for capital receipts of not- for—proﬁt orgamsatlon

What is a partnership deed? o i

What is super profit?"

What is sacrificing ratio? . ‘

What is automated accounting system? 2

Sara company, issues 10,000 equity shares, of Rs. 10 at a premlum of Rs. 2 "
each payable lelIy on application. PaSSJournaI entries. , : ;

Calculate qunck ratio: Total current liabilities Rs.2,40, 000 Total current assets

-Rs:4,50, 000; Inventories Rs.70, 000; prepald expenses | Rs 20,000

Calculate ‘the value of goodwill at 2 years purchase of average proﬂt when
average pl‘OfltlS R5.15,000. ‘

‘From the following particulars ascertaln proflt or loss

" Particulars j I'E

Capital at the end of the year{31°* March, 2019) 8,50,000{ .
Additional capital introduced during the year 11,20,000f | .
Drawmgs during the year i | | 70,000

. Part - I11 | . L 7x3=21
Answer any seven questions e
Question No. 40 is compulsory

31) Flnd out credit sales from the following ‘information.

. Partlculars _ Rs. g
Debtors on 1%° April, 2018 ‘ . 1,00,000 - Ao
|cash received from debtors 2,30,000 ' s
" |Discount allowed LA R + +5,000| \
Retums mward . & | 25,000 “
lDﬁebtors on' 31 “March’ 2019 K 1,20,000] )

32) From thé followmg partlculars show how the item 'Subscription' will appear

in theé Income and Expenditure Account for the year ended 31.12.2018?
Subscription received in 2018 is Rs. 16,000 which includes Rs.3,000 for

2017 and Rs.5,000 for 2019. Subscription outstandmg for the year 2018

is Rs.4,000, Subscnpt|on of Rs.2,000 was received jn advance for 2018 in
the year 2017. -
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33) Distlngwsh between sacrificing ratio and galmng ratio. .. .. : '

34) Johnisa partner.in a firm. He withdraws Rs.1,000 p.m. regularly Interest on
drawmgs is charged!@ 5% p.a. Calculate the interest on drawnngs using

average period, if he draws . R TR

i) atthe beglnmg of every month -~ : -

ii) in the middle of eyery.month = S O

iii) at the end of every month i

From the following details, calculate the value of goodwﬂl at 2 years purchase‘

of super, profit: .

a) Total assets of a-firm are Rs.5,00,000 ot /

b) The liabilities of the firm are Rs.2, 00\000 ' 5

c) Normal rate’of return in this class of business is 12 5%

d) Average profit of the firm is Rs.60,000. 3

State the difference between preferenice shares and equnty shares.

Rajan Ltd. purchased machinery of Rs.6,00,000 from Jagan Traéers It issued

-equity shares of Rs.10 each fully paid in satisfaction of their ctaim: What entries

will be made if such issue is made (a) at par and (b) ata premium of 50%

\
\

35)

36)
37)

38) From the following particdlars, prepare comparative income: statments of
Daniel Ltd : -
) Particularé ‘ 2015-16 2016 17
. * " Rs. Rs.
Revenue from operations ' 40,000 50,000
Operating expenses 25,000 27,500
Income tax(% of the profit before tax) 30% 30%
39) From the followmg information calculate debt equity ratio.
Balance Sheet (Extract) as on 31st March 2019 ‘
Partlculars Amount
Rs.
1. EQUITY AND LIABILITIES '
1. Shareholders' funds
(a) Share capital
Equity share capital 6,00,000
(b) Reserves and surplus . 2,00,000
L |2. Non-Current liabilitiés ) :
Long-term borrowmgs (Debentures) '6,00,000
3. Current liablities - 3
(a) Trade payables _ 1,60,000
2+ - | (b)Other current liabilities T
i Outstanding expenses 40,000
T Total 16,00,000 .
40) Mention the commonly used voucher types in Tally.ERP 9.
Part-IV 7x5=35

Note ':' Answer all the questions.

41) a) On 1st Apirl 2018 Subha started.her busmess with a capital of Rs.1,20, 000

She'did not maintain proper book of accounts. Following partlculars are
available from her books as on.31.03.2019.

Particulars Rs. Paritculars Rs.
Bank over draft 50,000(Stock-in-trade 1,60,000
) Debtors . 1,80,000|Creditors 90,000
h Bills receivable 70,000|Bills 'payable 2,40,000
o Computer 30,000|Cash in hand 60,000
flas MaChinery 31001000 »

During the year she withdraw Rs.30,000 for her personal use. She introduced
further capital of Rs.40,000 during the year. Calculater her profit or loss.

faD N\
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b) From tne followmg statement of proﬁt and Joss of Mukesh Ltd Calculate
(n) Gross proﬁt ratlo Ve (n) Net profit rajoi:, g o
i Q‘\q i $tatement ofproﬁt ahd LOss oty , ‘
! & . 3_‘, ‘ Partn:ulars 3) . .; ; f\im’Qilj"’"i
N i ‘ VR c ) ) RS
b el Revenue from operatnons gert . ANENIN TOO%O'
X 1512 Sér o[ Othemncome. L i s g
; '*/\l\ 4 T | Incomefrom mVestmenv‘t‘ A 40000‘
e e [T Totalreyenues(lﬂl)/ . - U sia0 ool
j{l ‘@ Iv. Expenses.‘ PR VSRR AN S AN
N .| Purchase ofstockln trade LTI " 1,80 006
{Jt g ttghangesmlnventorles it ‘| .20,000
) “»K';- § | Employees benefits expense | 130,000
(,t_ - Otherexpenses v e g i g 1,10,000/:
§ ‘ Prowsmnfortax i e (R 50 000 _
) g = Total expenses ot i 73 90,000
Tons V. Profltforthe year IR RRL, ¢ ) ,,_"17,.50;000

2O

42) a) From the followmg partlculars of Chennai Sports Culb prepare Recelpts
and Payments account for the year ended 315t March 2018. -

Partlculars i 1 & T Partlculars » Rs. Rs.
Opening cash balance as ong:il '
11.4.2017 10,000 Subscnptlons recén/ed
Opening bank balance as on :
142007 -t 15,000 2016 2017 caciog L4500
Interest paid i 50002017 -2018 ‘' ¢ | 65,000 :
Telephone expenses 7,000 2018 -2019 :i(.: | 5,000/74,500
Upkeep of grounds - = - 22,500 J ‘
ere membershlp fees recerved ‘5,500 Toumament expenses 12,500/
.. |Tournament fund , veod
Bats and ball purchased L n13,0QO receipts. 15,000
. |Closing balance of | I
~_|cash (31. 3 2018) e 5,000
3 PR e 4 - ' (OR)

b) Hari, Madhavan and Kesavan are partners, sharmg profits and Iosses in
the ratioof 5: 3 : 2. As from 1t Apirl 2017, Vanmathi is admitted into
the partnership and the new profit sharlng ratio is decided as 4: 3: 2 :
1. The following adjustments are to be made. ‘
a) Increase the value of premlses by Rs. 60,000:
b) Depreciate stock by Rs.5,000, furnlture by Rs 2 OOO and machmery

by Rs.2,500 ' 5

~, "c) Provide foran outstandmg liability of Rs. 500 N

‘ Pass journal entries and prepare revaluation account.
43) a‘) ‘Akash, Bala, ‘Chandra angd Damel are partners in a firm. There is no
partnership deed. ‘ )
How will you deal with the following.
) Akashyhas contnbuteg. maximum capital. He demands interest on captial

at 10% per annum
ii) Bala has withdrawn Rs.3,000 per month. Other partners ask Bala to
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iii) Akash demands the profit to the shared in the capital ratio, But,
others do not agree

iv) Daniel demands salary at the rate of rs.10,000 per month as he
spends fulltime for the business.

v) Loan advnaced by Chandru to the firm is Rs.50,000. He demands
interest on loan @ 12% per annum.

(OR)
b) Explain any five applications of computerised accounting system.

44) a) Joy company issued 10,000 equity shares at rs.10 per share payabie
Rs.5 on application. Rs.3 on allotment and Rs.2 on first and final call.
The public subscribed for 9,000 shares. The directors alioted ail the
9,000 shares and duly received to money, Pass the necessary journal

entries.
f (OR) |
b) Prepare Common-size balance sheet of Meena Ltd. as on 31% March,
2018,
? Particulars ;31“ March, 2018?
; f Rs.
1. Equity and Liabilities
g Shareholeders' Fund , 2,00,000
| Non-current liabilities j 1,60,000
Current liabilities 40,000
| Total f. 4,00,000
II. Assets
Non-current assets | 3,00,000
current assets | 1,00.00C
Total | 4,00,00C

Anu company forfeited 200 =cuity shares of Rs.10Q each issusg a3t par
held by Thiyagu for nonpayment of the final call of Rs.3 per share. Ths
shares were reissued to Laxman at Rs.6 per share. Show the joums=!
entries for forfeitura and refSsue.

\
~
)

(OR) :
b) Calcuiate trend osrcentages for the following partculars of Pzlal L.
: Rs. In laids
Partior Year1 Year2 Year3
L Equity and Liabilities

Sharshoiders’ Fund 250 7S Eil
Non-currernt abites 120 125 100
cufrery faites = I Y > =0
Total ! " 40C =2 =3

IL Assets _ <
Mon-current Assets X =0 0
Cuent assets 100 80 0
Tota £0C 240 230

46) a

} From the foliowi ngs paritoul iars c2
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b)

47) a)

6 e
Particulars Rs. Particulars Rs. |
Sunday creditors on 1.1.2018 30,000|Purchase returns : 15,000\
Bills payable on 1.1.2018 25,000 Cash purchases 2,25,000|
Paid cash to creditors 1,20,000|creditors on 31.12,2018 25,000
paid for bills payable ‘ 30,000|Bills payable on 31.12.2018| 20,000
| (OR)

From the following receipts and payments account of Tenkasi Thiruvalluvar
Manram, prepare income and expenditure account for the year ended
31st March, 2019.

Receipts | _Rs. Payments Rs. |
To Balance b/d ‘ By Salaries 20,000
Cash in hand 14,000(By Rent 24,000
To Interest received 5,000|By Travelling expenses 2,000
To Subscription 55,000|By Printing and stationary 6,000
To Legacies 48,000(By Investments made 50,000

_ By Sports,equipmen ’

To Entrance fees 7,000{purchased - & 33,000
To Sale of ‘ ; )
furniture(Book value / By Balance c/d cash in
Rs.17,000) 16,000{hand 10,000

1,45,000 1,45,000

i) What is meant by retirement of a partner?

i) Janani, Janaki and Jamuna are partners sharing profits and losses in
the ratio of 3 : 3 :'1 respectively. Janaki died on 315t December 2017.
Final amount due to her showed a credit balance of Rs.1,40,000. Pass

~ journal entries if,

b)

a) The amount dueis paid off immediately -
b) The amount due is not paid immediately.
¢).Rs.75,000 is paid and the balance in future.
: (OR)
Calculate (i) Trade receivable turnover ratio and
(ii)- Trade payable turnover ratio.

J

, | Asoen31™ | Ason31™
Parsiculars March, 2018 | March, 2019
- |#5 Rs. ‘ Rs.
. |Trade receivables : , 80,000 60,000
Trade payables ; 40,000 50,000

Additional information:

i)
i)

Revenue from operations for the year Rs.10,50,000.
Purchases for the year Rs.4,50,000

Assume that sales and purchases are for credit.

SIVAKIMBR. v ) R madwe Hﬁg/
\]\Mﬁ/mf 62-73"95)/ (/"mkjﬁq‘ D?&"??d‘.
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